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Sub-Section Number: 1
Sub-Section Id: 335472253
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354727831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Udayagiri caves is located at: [ IgAMIC [T &I ¢
Correct : 1 Wrong : 0

Options :

1. ® Ujjain | 3949
2  Vidisha | afear

3. ® Khajuraho | @R
4. ¥ Mandu | AZ

Question Number : 2 Question Id : 3354727832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the first Indian to be awarded the Kalinga Prize for popularizing science? | faaM &1 slieiia e=m & oy
T QRER © GEATIT i alet I 9 1 @1 27

Correct : 1 Wrong : 0

Options :

1. ¥ 5 Jha | UaFT

2. ¢ Jagjit Singh | STST g
3. ¥ D.S. Kothari | ELUG.FB0
4. ¥ pC. Ray | Wr®¥

Question Number : 3 Question Id : 3354727833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which state is the Pranahita Sanctuary situated? [ WUigd AR T T # TR¥T 27
Correct : 1 Wrong : 0

Options :

1. #¥ Bihar | TR

2. ¥ Mizoram | TR

3. ¥ Rajasthan | T=eIH
4. ¥ Telangana | I&THT

Question Number : 4 Question Id : 3354727834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which vitamin prevents night blindness? [ @19 @ fdeTiie Tatell & Tewam #ear 57
Correct : 1 Wrong : 0

Options :

1. ® Vitarnin D | Rei#= St
2. ¢ Vitamin & | dei= @

3. ® Riboflavin | TEaTaTET
4. ® Folic acid | Wi gag

Question Number : 5 Question Id : 3354727835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Where was the Indian National Army (INA) formed in 19437 | 1943 H 9 TP AT (STEUFY) BT T3 Pyl 37T 41?7

Options :

1. ¥ Burma | =mf

2. ¥ Singapore | &R
3. #® Japan | SO

4. ® Calcutta | Feedr

Question Number : 6 Question Id : 3354727836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Anti-Terrorism Day’ is celebrated on
ST 3
Correct : 1 Wrong : 0

Options :

1. ¥ 21st May | 21 W€
2. ¥ 20th May | 20 #g
3. % 18thMay | 18 W8
4. % 2ondMay | 278

Question Number : 7 Question Id : 3354727837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which Constitutional amendment incorporated the Fundamental Duties in the Constitution of India? | ®19 T
FreITiver GTer RT & dicem # Ged ®dcdl @1 GiField T a7

Correct : 1 Wrong : 0

Options :
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#® 40th | 40ar
® 44th | 44ar
v 42nd | 42T
#® 50th | 50ar

5

Question Number : 8 Question Id : 3354727838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the latest Currencjéﬁgenonﬁnation notes to be issued by the Reserve Bank of India? |

AT #§ @ @19 df IRd 19 To7d o g7 IR 1900 ST gttt Ad-ad gal §ed il & A1E 57

Correct: 1 Wrong : 0

Options :

1. ¥ 300 Rupee note | 300 T4 T AT

2. ® 70 Rupee note | 70 ¥4 FT AT

3. ¢ 200 Rupee note | 200 T0 FT AT

4. # 1000 Rupee note | 1000 T T Al

Question Number : 9 Question Id : 3354727839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the present Chief Election Comrnissioner of India? | 9RT &7 ad A= §& THata g &1 57
Correct : 1 Wrong : 0

Options :

1. ® Nasim Zaidi | 7w J&T

2. ¥ schal Kumar Jyoti | S/ FAR F41d
3. ¥ v 5. Sampath | d.0g guF

4. ¥ H.S5. Brahma | Ta.09. F|[T

Question Number : 10 Question Id : 3354727840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who is considered as the political guru of Mahatma Gandhi? | BgTeHT el % T d e T8 & & H fohd 7 197 37
Options :

1. ¢ Gopal Krishna Gokhale | TUTeS0T TEel

2. ® pandit Madan Mohan Malaviva | Ul&d #e Aigd ATAE T
3. ®¥ Balagangadhar Tilak | SR RAaw

4. ® Lala Lajpat Rai | @TaT amud T

Question Number : 11 Question Id : 3354727841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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%’;mo are the mermnbers of ‘BRICS’ summit which was held recently? | gTa g1 # sImiiig g 'Tsiera @iafd & qeqa &1

Correct: 1 Wrong : 0

Options :

1. # Belgium, Romania, India, China and Spain | aiFaem, TATET, ¥RE, =9 i &

2. #® Bangladesh, Russia, India, Canada and Saudi Arabia | aTaRY, &6, YR, FATST X G3al SR
3. ¢ Brazil, Russia, India, China and South Africa | sHid, &6, YR4, T4 T ZTg0T ankraT

4. # Bhutan, Russia, India, Chile and Switzerland | g, &6, YRq, @l oK Fageree

Question Number : 12 Question Id : 3354727842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which Indian scientist was awarded Von Hippel Award 2017, the highest international prize in materials

research? | T R AT 1 9iaer SIET & Sgam SIaXisi [RedR, a7 RTie [RerR 2017 & GHATHT BT T

Correct: 1 Wrong : 0

Options :

1. ¥ CNR.Rao | 9L.09 3% T

2. ® anil Kakodkar | SIi<d #TRigHT

3. ¥ G. Madhavan Nair | St ATaE 97
4. ® Kiran Kurnar | T AR

Question Number : 13 Question Id : 3354727843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Madhya Pradesh, Manganese occurs in the districts of | T ngar &, AmH Mgiarad § & o Tt # uré St 87
Correct : 1 Wrong : 0

Options :

1. ¥ Morena and Rewa | GAT Ud €T

2. ¥ Bhalghat and Chhindwara | ¥aTaRE Ug HeasT
3. ® Durg and Baster | 1 qd aqav

4. ® Ujjain and Kalumar | 394 Ud FTGAR

Question Number : 14 Question Id : 3354727844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The ancient city which is called the 'Abandoned city'is ______. [ 131t = 2 B s i e et e < - 2

Options :
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1. ® Morena | §&AT
2. ® Dhar | 9R”
3. ¢ Mandu | A

4 ® Rewa [ T

Question Number : 15 Question Id : 3354727845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is a S1st district of Madhya Pradesh? | Fafeiad # & @19 @1 A=Wy &7 5187 Fer 27
Correct: 1 Wrong : 0

Options :

1. ¥ Rewa | Tar

2. ® Morena | g&AT

3. ¢ Agar Malwa | 37T ATeaT
4. ® Dewas | a9

Question Number : 16 Question Id : 3354727846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who constructed the Virateshwar temple? | TaRreser wiey fraw Taffa @ ar
Correct : 1 Wrong : 0

Options :

¢ Maharaj Yuvraj Dev| Tg0W JaU &d
# Maharaj Raj Dev| AgRT U9 o

# Maharaj Hansraj Dev| AERTS 560 od
# Maharaj Chhatraraj Dev| AERT #3309 od

o AN e

Question Number : 17 Question Id : 3354727847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following districts of Madhya Pradesh is the popular Kalika Mata temple located? | A& TS &
e et o & frad ateiig @ice g1aT @1 Aie [T 27

Correct : 1 Wrong : 0

Options :

1. ¢¥ Ratlam | W@aH

2. ® Bhopal | ¥T@

3. ® Singrauli | TR
4. ® Guna | TAT

Question Number : 18 Question Id : 3354727848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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An island and famous tourist spot in Khandwa at the Narmada river is _____. { Gizar # FUaT 981 U UE ST J9T
e weleT T _____ 2l

Correct: 1 Wrong : 0

Options :

1. ¥ Hanumantiya Tapu | ggaiaar g
2. ¥ Mortakka | ARG

3. # Sethani Ghat | §3H! U1T

4. ¥ Ram Ghat | TH 9T

Question Number : 19 Question Id : 3354727849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

seneral Maths and General Aptitude
Correct : 1 Wrong : 0

Patalkot in Chhindwara is the habitat of the ______ tribes. | TeareT # uaT@Ee ______ ST T TaTe T )
Options :

1. ¥ Gond & Bharia | Tz 3T \iar

2. ® Saharia | ggiaT
3. ® Khasis & Garo | @ET 0T MRT

4. # Korku | #Rg

Question Number : 20 Question Id : 3354727850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Before Alirajpur became a district in 2008, it wasa partof _________ district. | 2008 H aRYT a1 a9 & ugd,
qE o et @7 oo fgear am
Correct: 1 Wrong : 0

Options :

1. ¥ Barwani | asaHt
2. ¥ Jhabua | S

3. ¥ Ratlam | W@H
4. ¥ Dhar | 9

Section Id : 335472254 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
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Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472254
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A man walking at a speed of 4 kim/h notices a train running at a speed of 24 km/h is coming towards him.
What is the length of the train if it has passed himin 1.2 minutes? [ 4 Tt =T &1 T & T ITaT i HGT Hear
% Tor 24 Torst) & Y TTTd 9 Teid U U I IHRT ST SAT TG 81 Lol 1 wlells AT 5111, Iig a5 39 1.2 e # o @edl 37

Correct : 1 Wrong : 0

Options :

1. ¥ 500m | 500 #Hiex
2. ¥ 560m | 560 HiET
3. ¥ 600m | 600 HiET
4. ¥ 720m | 720 HiET

Question Number : 22 Question Id : 3354727852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A basketball teamn in USA won 40 of its first 50 garmes played. How many games must it win out of the
remaining 40 games for it to get an overall percentage of winning 60%? | JUaU ¥ UF dededld g‘l_gg;dq ERT Gel

mm%}@a’f T 40 H Tt gidT 81 Tersrit g1 &7 e 60% WTH & o o 99 40 Fal # & Tora Dl § I@ek @y ferdt gim
CICREERS

Options :
1% 15
2. % 18
3. % 16
4 v 14

Question Number : 23 Question Id : 3354727853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the decimal representation of the fraction 7/37, what is the 2000th decimal digit? | g 737 % Zamere feqm
# 2000aT TIHFAT 3w FAT 57
Correct: 1 Wrong : 0

Options :

24th Dec 17 Shift 2



24th Dec 17 Shift 2

w
&
w

4. ¥ Cannot be determined | Fufia 981 foram 97 gwar 31

Question Number : 24 Question Id : 3354727854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the length and breadth of a rectangle are 15 cmand 11 cm, respectively, then what is its perimeter? | It UF

TIT &1 FaTE o TSTE TH: 15 QU F9T 11 96T 3, T ST UIHTT 3T gIT?

Correct: 1 Wrong : 0

Options :

1. ¥ 52cm | 52 |Hf
2. ® 26cm | 26 |HT
3. ® 165cm | 165 §HT
4. ® 36cm | 36 |QHT

Question Number : 25 Question Id : 3354727855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3.425%3.425+2%3.425*5.575+5.575*5.575="7
Correct : 1 Wrong : 0

Options :

1. ¥ 54
2 ¥ 81

g® 72
4. % 80

Question Number : 26 Question Id : 3354727856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the average. | 3fad Id ®4

25, 80, 186, 53, 26
Options :
1. ¢ 40
2. ® 50
3. % g0
4. % 70

Question Number : 27 Question Id : 3354727857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Ram boasts of buying some things from a super market. He claims that the square of the number of things he

buys is the largest three-digit perfect square. Find the number of things he bought. | 77 % ¥ A § T

GEIT FT YT
Correct: 1 Wrong : 0

Options :

Question Number : 28 Question Id : 3354727858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A1234EB6 is divisible by 18, then the possible values for A+Bis___. | Ai¢ A1234B6, 18 gRTdW=a 8, T A+B
& o araTiaT A

Correct : 1 Wrong : 0

Options :

1. %2 11
2. %2 20
3-8 11 20
4 % 3 11

Question Number : 29 Question Id : 3354727859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 7x* - 28x% + 4x -100 is divided by x + 2, then the remainder is: / Tfe 7x*— 282 + 4x -100 &t
x+2 ¥ fanfaa frar e, ar dusa &

Correct: 1 Wrong : 0

Options :
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1. ¥ 108
2. ® g2

3. %8 -92
4 ¢ -108

Question Number : 30 Question Id : 3354727860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If xf -6x° + 9x* + 3x> — 18x% + 28x — 3 is divided by x — 3, then the remainderis___ ./ Af¢ x5 -
65+ 9xt + 33— 182 + 28x — 3 I x -3 ¥ fawifolg a=<a § ar Ausher 2l

Options :
1% 3
2. 82
2" 3

4.v0

Question Number : 31 Question Id : 3354727861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The next term in the given sequence is____. | fem g STIRH H e ug ___ 31

1,4,27,16,125,36, _
Correct : 1 Wrong : 0

Options :

1. ¥ 49
2 ¥ 343
3% 313
4. ® None of the above | 390 & &5 751

Question Number : 32 Question Id : 3354727862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A dealer sells two watches at Rs. 2000 each. If on one he getsa profit of 25% and on the other he incurs a loss

of 20%, then he: [ Uw =y 31 uizat # & wed® &1 2000 T H =41 71 ITe Ud UT I 25% BT o714 WTH 5197 & T97 373 0T
I 20% FTA F14T 81 TTIH

Correct : 1 Wrong : 0

Options :
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# suffers an overall loss of 6.25% | Fel 6.25% @1 g1 gldT 8l
#® Gets a profit of 5% | 5% @7 @19 UTH §1a7 31

# Makes a profit of Rs. 10 { 10 %U2 &7 &AW §1aT 31

. ¥ Loses Rs. 100 { 100 T &I T4 51aT 81

e

Question Number : 33 Question Id : 3354727863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A started a business with Rs. 21,000 as initial investment. After a few months B joined with Rs. 36,000. They
share the profit equally at the end of the year. How many months after did B join A7 | A& 7 21,000 F03 & TRTHF
T & 91 Uer SR TR TR g 6Tg W 36,000 €0t & 91 B I6H ditafed g1 TR aY & S § Irgid o @i axe
AT H I foram B, A & 9w fopae 71g wernd @feRierT garm?

Correct: 1 Wrong : 0

Options :

1. ¥ Smonths | 5 ATg
2. ¥ 55 months { 5.5 A%
3. # g months | 6 ATg
4. ¥ 7 months | 7 9§

Question Number : 34 Question Id : 3354727864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Reena left home at 8.15 a.m. to go to work. She returned home at 5.45 p.m. What is the total amount of time
she was away from horne? | TFT & 0T I & o7 UTa: 8:15 a0 O & et TS @l B A st |1 5:45 oo 8] dg T &
el Topal @A & oy 9T 4t

Correct : 1 Wrong : 0

Options :

1. ¥ 9 hours 30 minutes | 9 ©¢ 30 =g
2. ® 8 hours 30 minutes | 8 B¢ 30 AT
3. ¥ 7hours | 7 ®¢

4. # 3 hours 30 minutes | 3 ¥ 30 T

Question Number : 35 Question Id : 3354727865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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When 30% of one number is added to a second numbe;, the second number Increases by one-fifth. What is the
ratio of the first number to the second nurnber? | Us T&AT # 30 % HI el Yo gAU G&dT H ANST T 8, T @4 g&ar

Teh-TT=rell ol g FId1 &1 TRell SEaT BT Gal SEaT o @R SFUTT FaT gi?

Correct: 1 Wrong : 0

Options :

1% 5=
28 g
W
48 1

(R O B LV )

Question Number : 36 Question Id : 3354727866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a fruit seller gains the selling_price of 20 bananas by selling 100 bananas, then his gain is: | 7 UeF & fdorar
100 el B st 20 el & Grdl & aTaT AT WTH HdT 5, d1 JGH] AT &

Correct : 1 Wrong : 0

Options :

® 10%
® 15%
® 20%
v 25%

el R

Question Number : 37 Question Id : 3354727867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diameter of a scooter wheel is 35 cm. The number of revolutions required to travel a distance of 11kmis

_______ | U TR o UTgY BT SATE 35 QAT 81 11 Toreit &1 g 1 a1 e o ol srrersder qikepauTt i HEar

Correct: 1 Wrong : 0

Options :

1. ¢ 10000
2. % 11000
3. % 12000
4. ¥ 2000

Question Number : 38 Question Id : 3354727868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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2 3 2 3

273 X 813+ 375 equalto ./ 273 X 812+ 3_5,_ & TR ol

Correct: 1 Wrong : 0

Options :

o S
® 8 X

General Hindi

Question Number : 39 Question Id : 3354727869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

498 1is divisibleby___. / __ Z@RT 497-1 fasm=7 g}
Options :
1. ¥ 50
2. %51
3. % 29
4. v 48

Question Number : 40 Question Id : 3354727870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If (5606789) - x = 3458745, then x = ? | Aig (5606789) - x = 3458745 §, T x =7
Correct : 1 Wrong : 0

Options :

1. ¥ 2356784
2. ¥ 2349024
3. ¢ 2148044
4. ® None of the above | g0 & &S 751

Section Id : 335472255
Section Number : 3
Section type : Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472255
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

oot F AT e qemanfe eaia_____ FEeATdT 3l

Correct : 1 Wrong : 0

Options :

Question Number : 42 Question Id : 3354727872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

St greg Wegpd | w4t & w4t fgwat # g g 8, o wgerd -
Options :

1. ¥ 327

2. ¥ gcan

3. ® I

4. ® @

Question Number : 43 Question Id : 3354727873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ud STeg ST TR &7 & alfcrl & 7oy S1d 3, o 976 8-

Correct : 1 Wrong : 0

Options :

1. ¥ Rt
2. & I

3 % T

4. ¥ ggEa
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Question Number : 44 Question Id : 3354727874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FRT H UHSHT TAT 1T R BgaTdl a-
Correct: 1 Wrong: 0

Options :

1. ® s&
2. v =
3. ® goEr
4. % qqw

]

Question Number : 45 Question Id : 3354727875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

STl U BT e 1 QA BT a1 o dgelld g-

Correct : 1 Wrong : 0

Options :

Question Number : 46 Question Id : 3354727876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U W uAar! g H & @ ar ?

Correct : 1 Wrong : 0

Options :

1. ¥ @
Rasic
® g

BoWN

Question Number : 47 Question Id : 3354727877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

ST Topd Ty IUARY @ R AT F e e ee g d d e ar
Options :

1. ¢ gag

2. ¥ gay

4. ® g

=
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Question Number : 48 Question Id : 3354727878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ty F AT e Mg A E A AT E?

Correct : 1 Wrong : 0

Options :

1. ¥ gE+3a
2. ¥ Ta+iq

3 ® T4Eg
4 ® a4y

Question Number : 49 Question Id : 3354727879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A w1 o geg MR A d @ arg?

Correct : 1 Wrong : 0

Options :

1. ® Fgaw

n

w
4

i .:.a 3
a 3 a/
[l

-
b2

Question Number : 50 Question Id : 3354727880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘3t o & T geg R H A B 7

Correct : 1 Wrong : 0

Options :

A
J

=

=

Question Number : 51 Question Id : 3354727881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Arier g H g ® | @19 |1 GHE 27
Correct : 1 Wrong : 0

Options :
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1. ¢ qoqey A
2. ® Ty anE
3. ® FHyRT guTE
4. ¥ gty gumg

Question Number : 52 Question Id : 3354727882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

AT S@AT Grek 1 anf g H a @ arg?

Options :

1. ® qgwE
2. ¢ TR AT
& SR Er AT
% Haer ZeET

AW

Question Number : 53 Question Id : 3354727883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ferfgr @1 g e g A F FT AT 87

Correct : 1 Wrong : 0

Options :

1. #® fegoir
2. ® gt
3. ¢ Teriguit
4. % Targion

Question Number : 54 Question Id : 3354727884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

" B 9T T4 EIX AR S §IC 5/ AR
qa SITERRT e T 9 e ST "l |
AU A A Mg H A BT AT E?

Correct : 1 Wrong : 0

Options :

1. ® goor Ty
2 8 drwg
3 % gRTE
4 ¢ T E

Question Number : 55 Question Id : 3354727885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

24th Dec 17 Shift 2



24th Dec 17 Shift 2

ﬁ‘aﬁwmaﬁw%&ﬂ?ﬁamqﬁw

Correct : 1 Wrong : 0

Options :

1. ® Iy EFR
2. ® JUAT SIEHT
3. ¢ U STAER
4. ® AW AT

Question Number : 56 Question Id : 3354727886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

JugH e Seg gy - et
Options :

1. ¥ gruegdf

2. ® gridegdt

3 % agaRil

4.  frerh

Question Number : 57 Question Id : 3354727887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g & & gg TaT Fr gy -

Correct : 1 Wrong : 0

Options :

| ® gterman® RSt seat Y RN 3 S TR, Y stit i
> ® Rt oreat Y Y it F aver T 2 e ¥ sme
3. TRINT 3 STA UK R reEt Y S ate maT
4 ® Yot ater maT & RS aeEt A W ¥ s

Question Number : 58 Question Id : 3354727888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e g |wTEt % AW & A AT ISR IS0 MY & | AR ST ¥ ISR F# aa1E
Correct : 1 Wrong : 0

Options :

1. ¥ Foqey - gAHEA
2. & R - Semmr
3. ® FHURy - JAT-99T

4. ¢ Fgility - T
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Question Number : 59 Question Id : 3354727889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

' reg wT S E -

Correct : 1 Wrong : 0

Options :

=t

SN
$ 8

Question Number : 60 Question Id : 3354727890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘g T § T amTe @ IR 87
Correct : 1 Wrong : 0

Options :

M
o

3. ® 129

4. ¥ FIUEY GHTE
Section Id : 335472256
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1

Rural Economy and Panchayati Raj
Sub-Section Id: 335472256

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The Gram Nyayalayas Act received the assent of the Presidentin ________. | U e St #
TP &1 Tl I B2l

Correct: 1 Wrong : 0

Options :

1. ¥ 2010
2. ¢ 2009
3. % 2014
4. ® 2000

Question Number : 62 Question Id : 3354727892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who adrinisters the Gram Kosh ? | TTH %19 &7 W &1 FaT 57
Correct : 1 Wrong : 0

Options :

1. ¥ Janpad Panchayat | S-S F=T

2. ® Secretary | g

3. ¢ Gram Vikas Sarnithi | 779 T afafe
4. #® Sarpanch | U=

Question Number : 63 Question Id : 3354727893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to Tendulkar Committee (2009-10), what is the % of people liviEr'lébelow poverty line in Madhya
Pradesh? | dgea< QAT (2009 -10) & HaTide, A HG § T T@T & =¥l T aTel @ T 9% 4T 3

Correct : 1 Wrong : 0

Options :

® 25-30
® 31-35
¢ 35-40
® 40-45

ol S L I

Question Number : 64 Question Id : 3354727894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Tu'\xi’hic%l’)among the following states is the largest producer of silk? | FRARET # & P19 AT T TIH FT G180 Jeurgd
EIGIRS

Options :
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1. # Andhra Pradesh | 317l naar
2. ® Madhya Pradesh | Aeg uaqr

3. ® Tamil Nadu | Fie1g

4. ¢ Karnataka | ®ica

Question Number : 65 Question Id : 3354727895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘UDAY Yojana’ is associated with ____.[ IS AT Mg S daiad & ____|
Correct : 1 Wrong : 0

Options :

1. #® Panchayati Raj | =madt O

2. ® Wormen Empowerment | AigeT G e
3. ¢ Energy Distribution [ 31 feaeor

4. ¥ Banking Sector | dféT &=

Question Number : 66 Question Id : 3354727896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

After the 73rd Amendment, direct Panchayat Elections were held for the first time in Madhya Pradesh in
________ | 73 3 Haiter o aTg, e N H g A o W UETd AT U

Correct : 1 Wrong : 0

Options :

1. ¥ 1959
2. % 1965
3. % 1972
4. v 1994

Question Number : 67 Question Id : 3354727897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The power of posting, transfer, salaries etc. of state government employees on deputation to Panchayats rests
with ______. | T TRRTC % HHATRT BT deTa ], ST, ST AT X U= & T At & U 3

Correct : 1 Wrong : 0

Options :

1. ® District Collector | Famefiar

2. ¥ Respective State Government Departments | T a4 & 9T
3. ® Zilla Panchayat | e =T

4. # Janpad Panchayat | S-ug U=a
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Question Number : 68 Question Id : 3354727898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was Madhya Pradesh’s rank as in 2015-16 in production of garlic? | 2015-16 @& sff@al & JaR 7L Ted
T Agg ScuTeH H @i dT &I 17

Correct: 1 Wrong : 0

Options :

1. ¢ 1st | ugern
2. ® 2nd | gEw
3. ¥ 3rd | &
4. ¥ 4th | =T

Question Number : 69 Question Id : 3354727899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
L%?which year was Food Corporation of India set up? | F= ®URU 36 ST (W 14 @rer (47m) T s forg o g

Options :

1. ¥ 1947
2. % 1950
3. ® 1955
4. ¢ 1965

Question Number : 70 Question Id : 3354727900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following Indian states Panchayati raj systern does not exist ? | Fgiead AR g Twat # & Forad

Correct: 1 Wrong : 0

Options :

1. #® Goa [ mar

2. ® Assam | e@H

3. ¢ Nagaland | ATTAS
4. ® Kerala | #%d

Question Number : 71 Question Id : 3354727901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following years were Regional Rural Banks first set up in India ? | fgfeiad # & o ad aea #
TR AT S TTHT de fop T 917
Correct : 1 Wrong : 0

Options :
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v 1975
® 1983
® 1999
® 2005

o L

Question Number : 72 Question Id : 3354727902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the additional amount released as assistance for construction of toilet in a household under Pradhan
Mantri Awaas Yojana-Grarnin, as part of Swachh Bharat Mission? | WeTH H3T ST AI-T-TTHI0 & SiaTlq, Fa=g
WRT 0 & 91T & &0 § o7i # S=nea & TAAfr & &0 S & S aret S1id oh GganT & e A g7

Correct: 1 Wrong : 0

Options :

1. # Rs. 7000}~ 7000 &7

2. ¥ Rs. 10000/- 10000 &7
3. ¥ Rs. 12000{- 12000 &7
4. ¥ Rs. 15000/- 15000 &7

Question Number : 73 Question Id : 3354727903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the percenta e of people living in rural areas in India, according to the 201 1Census? | 2011 & AT
%Eﬁ H TE el A T Wi o 87

Options :

1. ¥ 25%
2. % 39%
3. v 68%
4. ¥ 56%

Question Number : 74 Question Id : 3354727904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In terms of the size of population, India ranks_____ in the world. | SEEAT & TR & G H, IR @7 e #

Correct: 1 Wrong : 0

Options :

1. ® Fourth | =T
2. ® Seventh | g@ar
3. ® First | ugar
4. ¥ Second | &
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Question Number : 75 Question Id : 3354727905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where are jobs in the primary sector found? | WRITH® &3 # @il w51 Wed! 57
Correct : 1 Wrong : 0

Options :

1. #¥ Metropolitan cities | AZIUTAET I5T
2. ® Towns | AR

3. ® Cities | T

4. ¥ Rural areas | TTHITT &7

Question Number : 76 Question Id : 3354727906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In most developing countries, the maxirmum number of geople employed is in the ____ sector. | affeerat

Tammadier Sut #, sifedrean gear & /i @ ______ & H TSR e ST 8

Correct : 1 Wrong : 0

Options :

¢ Primary | WRITHE

#® Secondary | TEdaow

® Tertiary | @ 1I%F

# None of the above | JUIH H & FIE 751

o U L I

Question Number : 77 Question Id : 3354727907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which statement is NOT correct about forests? | a4t & st # FRiARET # & @19 7 T 9 751 57
Correct : 1 Wrong : 0

Options :

1. # They protect the soil against erosion | o SRS & foeg GaT F1 GUIGT Fd gl
2. ® They protect bio diversity | & Sta fafereaT &7 Tam @ed 8

3. ¥ They promote poultry | & Fgic e @1 a1aT ad gl

4. ® They supply timber and fuel wood | & F18 3T L& & AFST BI MYfd B Bl

Question Number : 78 Question Id : 3354727908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which is the target year for 100% village electrification? | 100% TTH fdefd e & oy @57 o 19 a1 37

Options :
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1. ¥ 2022
2. ® 2020
3. ¥ 2019
4. v 2018

Question Number : 79 Question Id : 3354727909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state won the award for using non-conventional construction materials for roads under Prime Minister
Gram Sadak Yojana 2016-17 7 | g tea A af 2016-17 # were 5t U/ @ diomT o siqtia agw! & fmi & g
SRR A0St & IuT o oy QREar Siar?

Correct : 1 Wrong : 0

Options :

1. ¥ Madhya Pradesh | Aeq 0y
2. ®¥ Rajasthan | T=ea™

3. ® Kerala | 3%d

4. #® Andhra Pradesh | 31Tl 0aar

Question Number : 80 Question Id : 3354727910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%}ch is the authority to notify the wards in a Gram Panchayat ? | UTH TaTad | aie! @1 SIegia # @7 Sifaar

Correct : 1 Wrong : 0

Computer Knowledge
Options :

1. ® State Election Cormrnission | T3 [Rdi== s
2 ® District Collector | Fiemear

3. ® Panchayati Raj Ministry | U=madT O #3164

4.

¢ Tehsildar | FgdideK

Section Id : 335472257
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472257
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

By default, documents saved in Word 2007 are saved with the extension: | 8Wiee ®1 9, @2 2007 # 94 Ty 7
STagHe, 30 UFacad & a1 dd fd Y g

Options :
1. ¥ docx
2. ®¥ pptx

3 #® xlsx

4. #® jpeg

Question Number : 82 Question Id : 3354727912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The basic unit of Excel where we enter data is called

FEATAT 21
Correct : 1 Wrong : 0

Options :

1. ¥ Box | digq
2. ® Table | Taa
3. ® Index | 2299
4. ¢ Cell | 8

Question Number : 83 Question Id : 3354727913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Operating system is an example of: | ST EHeH gqaT IS &
Correct: 1 Wrong : 0

Options :

1. # application software | et HFTdeR

2. ¢ System software | T4HeH AT

3. # Communication software | FHIHFIT QAT
4. # Storage device | HEIS f2agd
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Question Number : 84 Question Id : 3354727914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ISP stands for: | SMEUEUT &7 quf €7 &

Correct : 1 Wrong : 0

Options :

# Internet System Programming | §e3-¢ Taeew wmmaT
¢ Internet Service Provider | §et-c didd Tlagey

# Internet System Plan | §e¢¢ fqe q@=

# Internet Session Programming | $2¥-¢ S TTHT

o L

Question Number : 85 Question Id : 3354727915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
To create a copy of files in the event of system failure, you create a

& BT AT & T, et AT I
Options :

1. ® restore file | R TEA

2. ¢ backup | dFam

3. # firewall | BTRETA

4. ® redundancy| Re~sdt

Question Number : 86 Question Id : 3354727916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

__________ . | To9eH B g & AT H, BIead

Which of the following can be used for creating basic images? | HT # & ToraeT Iu=iT dfe s & fmfr & fog
oI ST |t 87

Correct : 1 Wrong : 0

Options :

1. ¥ adobe PDF Reader | Tetg TIENE U2

2. ¥ MS Paint | TATY UT

3. ¥ Notepad | AR0E

4. ® Windows Media Player | &z Mz womr

Question Number : 87 Question Id : 3354727917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pre-defined and built-in formulas in Excel are known as: | UHdd # qa- =i a7 fdae-g= Baar & g & 7§
ST AT &
Correct: 1 Wrong : 0

Options :
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# suto-sheets | ffer-di
#® Diagrams | STaUH
#® Charts | @é
. ¥ Functions | %&aH

e

Question Number : 88 Question Id : 3354727918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following tools will suggest other words with a sirmilar meaning to the selected word in MS
gord 20077 | TAUE g2 2007 # oi=a sméaiﬁqu aref ATt ST SeIg W aaa?%amﬁamﬁq:rﬁﬁaﬂ:rmgﬁ

Correct : 1 Wrong : 0

Options :

1. ¢ Thesaurus | P&
2. ® Citation | @Tgea
3. ® Caption | Fqa=

4. ® Glossary | T@mE

Question Number : 89 Question Id : 3354727919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& computer on internet are identified by: | $TTHe U U FHYILT WHA & ERT U= AGT &
Correct: 1 Wrong : 0

Options :

1. ¥ E-mail address | 3-Ad 029
2« Internet Protocol Address | ETCAT WITTH 167 T=d
3. ® Link Address | fd@w u29

4. ® Internet Address | g2t U129

Question Number : 90 Question Id : 3354727920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Where are data and programme stored when the processor uses thern? | e WG STeT Ud WITH T JUNT $dT 5,
T d TET R G 87

Options :

1. ¢ Main memory | §&g BART

2. ® Secondary mermory | 9Hed HART
3. ® Disk memory | f&q® #aIT

4. ® Programme memory | W #ART
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Question Number : 91 Question Id : 3354727921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many ways you can save a docurment? | 370 U@ STHgHC ® fohd- TR & da & Thd 57
Correct : 1 Wrong : 0

Options :

AW N e
% 8 <
(0.0 BN S UL

&
N

Question Number : 92 Question Id : 3354727922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How does ruler help in MS Word? | TAUH I H, €@ [haH Tg1ad 51T 57
Correct : 1 Wrong : 0

Options :

1. ® Settabsonly | R tgar e d

2. # Setindentsonly | R 2w @c oA &

3. ® Change page margins only | &% U5 AT aga #
4. ¢ All of the above | IWigg Tt #

Question Number : 93 Question Id : 3354727923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unprocessed raw facts, fi%xres, nurnbers or images are called _____ | STHETET R T (3T Bepe), smgiaa,

g aTeE
Correct : 1 Wrong : 0

Options :

1. #® Program | WA
2. ¢ Data | BRT

3. # Instruction | TEEHFIT (3N
4. ® Process | wiewam

Question Number : 94 Question Id : 3354727924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In M5 Word, the process of making changes to an existing docurnent is referred to as: | AU 98 H, U@ Hival
STegHc # itadd @ &1 uiewar ®1 foga &7 § g foam JmaT g

Correct : 1 Wrong : 0

Options :
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1. ¢ Editing [ gigRm
2. ® Tracking | Zfem
3. ® Proofing | gitm
4. ® Creating | frgfem

Question Number : 95 Question Id : 3354727925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ANSI stands for: | UTAUESITE &7 Q0 &7 &
Correct: 1 Wrong : 0

Options :

1. ¢ american National Standards Institute | SR 9997 2239 eIl
2. # Alien National Standard Institute | UiaUs 999d 22 sqeIee

3. ® American National Stand Institute | STR@T 997 98 ST

4. % african National Standards Institute | SThiew 9997 Gee8d U IS

Question Number : 96 Question Id : 3354727926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You can copy cell formats from one cell to another by using the ________ in MS Excel. | UOUH UFda 8, om0
__________ T IO Feh Al BIHCH 1 U Ol & GALT 4el H P1UT &¢ T gl

Correct: 1 Wrong: 0

Options :

1. #¥ Backspace Key | soaqud gir

2. ® Default font | BTz BT

3. ¥ Format painter | BTHe 4T

4. # Formatting toolbar | BTHICT ZAa)

Question Number : 97 Question Id : 3354727927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Collecting the data and converting it into information is called______. | ST HUZIT AT SR 56 GoAT § & ia

WA HEATAT Bl
Correct: 1 Wrong : 0

Options :

1. ¢ Data Processing | STeT HTGTET
2. ® Data Compiling | STT #HUTS AT
3. # Data Importing | 12T HUICT
4. ® Data Exporting | STeT Ugauiie
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Question Number : 98 Question Id : 3354727928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

CPU is also known as: | €U ®1 6 98 & T =1 197 &
Correct : 1 Wrong : 0

Options :

1. ® Decode | @@z

2. ® Execute | UfRgge

3. ® Micro chip | AE®! =0

4. ¥ Microprocessor | ATS@MTEET

Question Number : 99 Question Id : 3354727929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

%ch of%;he following search engine is developed by Microsoft? | 40 # & @19 a7 &=l §99 AEH e gRT @ iad
TIIT 27

Options :

1. ® Google | T

2. ¥ Bing | &

3. ® Yahoo | 91g

4. # Alta Vista | UeeT feeT

Question Number : 100 Question Id : 3354727930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is NOT a domain name? | THaa # & T Uk S0 &7 910 51 57

Options :

1. ¥ com
2. % gov
3. v jpg

4 % in
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